HER R EREEEYT MERES 13
BEES 1 &= H H25.10.8
e ERELY
1B 35.719033
RE 137.817133
R |BeThb,
BEEES 2 = H25.10.8
%4 ZEREQEE YT
B 35.719500
RE 137.816667
R |BeThb.
BEES 3 A= H25.10.8
i Rl
B 35.719867
RE 137.818550
R |BeThb.
BEES 4 &= R H25.10.8
i RER
1B 35.719867
RE 137.818550
MR |BeThb.




R EAREEESYT MERES 13
BEES 5 &= H H25.10.8
i RER
il 35.719867
RE 137.818550
R |BeThb.
BEEES 6 - H25.10.8
i kL4 &R
il 35.719867
RE 137.818550
R |BeThb.
BEEES 7 A= H25.10.8
i kL
RS 35.719867
RE 137.818550
R |BeThb.
BEEES 8 A= H25.10.8
i L% 1EFE
el 35.719867
RE 137.818550
BR |BeThb.




